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2M: 83
M 2RHPBE
Sel: AR YYX CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— N (S7el 3+3d) A 100,000
HIEQAAL (MEISA) 88 & 22 88,000 76,500 11,500
101 @124 dl 26,000 26,000 0
4 JI2ZHHZ22XEES 26,000 26,000 0
OHIBLEMZAIE 2EX E=HA A2
65,0003 * 10Y = 8 = B 26,000
401 A& HIZ 201 bI 62,000 50,000 12,000
01 A& HI 62,000 50,000 12,000
OHIEEMTANE FXNE+
10,000,000& = 500 & 50,000
O&EAMIOe s Zet 2LIHE 12,000
HIZQAMZAY (REA L HSAIF) 2,020,000 1,600,000 420,000
2 760,000
s 1,260,000
401 AIEHI L 20 2,020,000 1,600,000 420,000
= 760,000
s 1,260,000
01 A& HI 1,520,000 1,600,000 80,000
O7=d & HSAE HIE2SMZAY 1,520,000
= 510,000
s 1,010,000
02 Zeltl 500,000 0 500,000
O+FCd & SN HE2 M2 A Y 500,000
= 250,000
[ia 250,000
SSEY 4X & 22 887,068 934,836 NAT 768
SSHEY | 22 805,843 763,109 42,734
101 @124 dl 3,060 2,884 176
4 JI2ZtHZ22XRHEES 3,060 2,884 176
OAanE FMHE &4 HA AME U2Y
85,000& » 49 = 3 « 33| 3,060
201 Lt 122,023 122,225 A 202
01 At 22l 107,023 107,225 A 202
O3saad 22l 107,023
—MYJI=E 500 B ¢
9203 = 6501 * 850 A& 5,083
—PMEF =g 2EESE 7Y
2008F A+ 13,8603 2,772
—S53EA 25 == 80,0003 * 1803l 14,400
—S3&EX 7Y 55,000@ * 50¢4A x 123 33,000
—ANEZ2H MEN cl2H 2¢
8,000& = 508 = 12& 4,800




2M: 83
M 2RHPBE
ool ZESIA &3 2 22 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— SN E M AHoA S FY
20,000& = 1004 2,000
— St 2 10,000& = 6001 = 12& 7,200
—ot&a HM HMAHM 2
25,0003 * 152004 = 23] 7,600
—StEA HAZEF (AR, B, L2Y )
- 65,0003 » 1520 & 9,880
—TEHIA NAIR MBS
100,000& * 204 2,000
-~ ZEATAUS ASAE 7
40,000% * 50 * 63l 12,000
—3E53EY HELE NEM & 7
20,000 = 850 = 33 5,100
— SESEA oAb AYE SRS
5,500& * 184 * 1204 1,188
02 2324l 15,000 15,000 0
Oz&staa el 15,000
—SEEY A2 =&
300,000& » 500 & 15,000
307 gl2tol & 680,760 600,000 80,760
05 BIZHRI & 3 680,760 600,000 80,760
O=sstza 34 2 As2e 29| 680,760
SSEA X 81,225 171,727 A 90,502
401 A& HIZ 201 I 81,225 171,727 A 90,502
01 A& HI 80,500 170,500 A 90,000
Ogsa = S53&4 uH
13,000,000& * 1= 13,000
O=SS &L AR B3 A
5,000,000& * 1202 60,000
OZ2Satzd otadHl &g &3
1,500,000& * 50 £ 7,500
03 Al 2 THHI 725 1,227 A 502
O3sstad d=x & ExAg =8 725
MEHGHE S & ALY 1,120,000 0 1,120,000
< 1,120,000
S=® MEoE SAAMY(HE)(HEAY) 1,120,000 0 1,120,000
< 1,120,000
401 Al HIZ 201 8] 1,120,000 0 1,120,000
< 1,120,000
01 A& HI 1,120,000 0 1,120,000
O==& MHotd =4 1,120,000
< 1,120,000
HRags(s2a) 2,465,000 0 2,465,000
HEAHH K= 100,000 0 100,000




2AM: 2F
HH: WRES(22 1)

S WEAHAHX = (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
=HMHLELSIAH &2 100,000 0 100,000

701 JIEtel HSHES 100,000 0 100,000
01 JIEtSl HEES 100,000 0 100,000
Ox=ZMNLELEINH BES 100,000
RSN 2,365,000 0 2,365,000
=CHEX3EeE= 2,365,000 0 2,365,000
802 BtEt= DI EF 2,365,000 0 2,365,000
01 =082Xx38eza 2,365,000 0 2,365,000
Os=3d MHoIESJAAY 202X2 2 0l
=1 2,365,000
HY2IAH (F ) 52,000 52,000 0
Jl=Zl 52,000 52,000 0
JlEzl 52,000 52,000 0
201 2et24d] 28,000 28,000 0
01 At 2teltl 28,000 28,000 0
OgeE:EH (BA2Y) 16,000
O=ZH(2A2E) 12,000
202 o4l 24,000 24,000 0
01 = LH o4 1l 24,000 24,000 0
ORA2Y 24,000




